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Exercise 9A

1 45000
0.000037
4300

0.508

4.7
0.0000264
9200
0.00045613
760 000 000
0.24
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42000000
4

0.0031

49

4 54.1

5 He has just put 4 zeros on the end of the number instead of
moving the digits.
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Investigation page 132
If the decimal is 0.abc
Ifa=cthenb+c<9
Ifa+1=cthenb+c>9

a+b+c<18




Exerpl§§~ 9B "

5 a $26 2 o
eed to'round up what they pay

b $26.14%7= $182.98, they

to at least $26.15
6 a 0.7459 - b 0'74594',
I (0117 b 0.27: ¢ e 038 d 6.86 -
8 TR e e
9 a i21.78cm ii 21.8cm
b i 29.19cm’ i 29.2cm?
seats W who have tickets.

10 a There will be 4 people without seats
b Anything between 15.75 tonnes and 16 tonnes - tonnes will think it

is safe to cross the bridge ‘when itisn’t.

11a 74 p 040 ¢ 000 -
12a 850 b 61.000 ¢ 200l hd 7.99  =e 0.0

13 3.4499cm, 33.81 mm, 3. 35cm
Exercise 9C

1 a 40% b 36%
c 2.5% d 149% i

2. ’a 53 b == [
c (@8

3 a 5%isthesameas-5- b 39%is the same as 32

100
100
c 81%1sthesameas 81l A 128 o 29
100 100 =
4 a2 p AL 9 >
100 10 ¢ s
d °7 Tl 356

1000 10 o
5 a.15%_. b 25% ¢ 17%
d4189% e 03%
Exercise 9D " . ' i 239
125 b 50 *ﬁ‘;e"ls b
zozs e 35 =
25 and 225%

== =335%




6

4 a 5 b 60%
13

Sal 50 b 65%
6 a 70%

b She scored the same percentage in both.
7 a 60% b 74% c 82% d 65.5%
8 15% i i
9 Earl and Eric
10a 52% b 70% ¢ 48%

d 30% e 60% ;
11 50%, 75%, 58%, 55%, 62.5%; year
12a 60% b 25% ¢ 15%

;. 3
13ai20. ii 35% b e ii 60% ;
3 4 1%

€ L _il30% dSlis=5 ii 50%
14a 52% b 48% ¢ 20% d 70%

e 20% :
Exercise !
1 90/100,  75/100, 75%; 25/100, 25%; 3/100, 3%;

5.8/100 = 58{1000, 5.8%:; 1f$0/100 =2/1000, 140%
2 multiply by 100%

3 a 80% b 41% c 97% -
d6% - € 1%
4 a 10% b 13.4% ¢ 2.5% d 79.6%
I e 2.34% f 8175% g 3.5% h. 143%
i 700% ;

5 0.12: 8/100, 0.08; 10/100, 0.1; 16/100, 0.16; 39/100, 0.39;
64/100, 0.64:230/100, 2.3; 0.2/100 = 2/1000, 0.002 .

6 . b two places to the left
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8 a 0.19 b 0.29 ¢ 0.66 d 003

e 6.21 f 0.007 g 10 h 43

Qo005 i \
5 b o055

Answers

13

7
0133374133133 %: %, 37.5%: %, 0.625; 0.1875, 18.75%: 1¢>
0.4375: 0.666...; 66.6...%; 0.4285 . . ., 42.85. . %; 1.2, 7120%;

501, 50.5% : o
43 11 9

14 42%’1—03’3’36’0'46 .

15 Jane should buy the 600g cheese as it has a lower percentage
of fat (34% rather than 36% for the 400g), she is doing the
wrong thing.

16 No, she is wrong % is 50% not 0.5%

17 82.5%, 62.5% and 102.5%

Exercise 9F

1 Joshua has made the mistake as $6.3 is the same as $6.30,
crossing off the'0’s is not how to divide by 10.

2, Zas$S b 12 kmes N5 d $60
e $74 £ $150 g 24g ~h 9 children i
i $30 j $1 =

3 This is closest to method 3, divide by 100 then multiply. -

4 a % b 0.02 ¢ 63% d 03 e %
5 a $093 b $lLl4 ¢ $130 d $1.02
e $375 f 3966 g $060 h $0.525
i $665 j $0.30 e
6 No. he has found half. 0.5% is half of 1% so should be 1.2
7 Anya :
8 a $5496 b S6kg ¢ 4320  d 80.5km
e 2m f 96¢g "
9 50% '

x5

500% x0.05

5%
5000%

x50 ;
x05

10 No, because 200% is the same as multiplying by 2, it should
be $100, she has found 20% ;

11a 350g cheese b 500g cheese ¢ no

12a 20%of 1250 b ISADY s u Ak
¢ 025%90 e e

133264km _ e s anad

14a 108 b 1620 ¢ 21600

152 8% b 8%;396;234,198;"
16 3.15tones = 1w, e

A




17a 02x15 b 5%of36 c 0.02x 10
18 $141.36, $230.64

19 615
2083 b 25 c 42

21 True These calculations are all equivalent:

15x42
100 X42= —15><

22 15% of 324

100 2 and so this will always be true.




Exercise 9G

1
2
3
4

a

9

a 400 b 320
25% is the same as % so multiply by 4 to find 100%

3 and 729
a 4600 b 800 c 24
d 60 e 400
He has found 10% of 300, the correct answer is 3000
03 b 700 c 4 d 230
a 270 b 1150
Increase by x% x% of original amount
15%

101.5%
1.5%

115%
150%

1600%
1500%

250%
a 112% b 124% ¢ 85%

10 a 300 b 200




Exercise 9H

e he> (el 2 d <

2 afalse b true c true d true

3 3.4<3.404<3.41<3.5<3.501

4 7.7>7.62>7.612>7.6>7.06

aL b = (e d >

7 a 870 litres > 8700 ml > 0.87 litres > 87 ml > 0.87ml

b 8.07g<80.7g<870g< 8.07kg <80700g < 8 tonnes
8 0.2km>350cm>24m> 220cm > 300mm > 0.25 m
9 12cm<0.14m<140cm< 2400 mm < 24.20m < 2.24km

Exercise 9l
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Exercise 9J R
1 a 4.1 b3 @ LS 5 _9'9
2Walyls CRE
3
A9 b 43 c 638 d 174
e 1055 f 572
5 a 04 b 6 c B d 63 )
G 2 b0 c 09 d 4 e /18 S
7 a A6 0 dil
8
=R 06 . il 3

b i 353 i 8471 iii 1.988
¢ the closer the original values are to the integers they round
to the closer the estimates will be.










21a $5370 b $6.60
22 $25.50

23 $3.68

24 $44.37

25 $11.66

26a 1,639,702.9

Check out 5
1 a 253000 b 0.2164
2 a 3.60 b 3.596

3 a Us b 0.06
e 9.17 f 0.063

b=
5

a2 17
4 € 1325

4 a

Blw

5 a 7.36 b 70.78
6 a 434 b, 1712

¢ $34.80

d $4.90

b 10, 639,639, b

¢ 3.5956
¢ 20

d 13.07

89

ii 70%




The homework book answers.
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